
Solution to Harvard Puzzle "Dean II" 

I N U R E O V E R T I
M E N O N C E P O R E
A M I S S K N E D E R
G O T T U S K E R S P
I D E R S T A T E S A
N E D U C A T I O N T
E L O M E R E B R I O
B A R E R O L E D O M
E R A G E T O T E B I
L E T O S C A P R E M
I S E C R A M A C H E

 
The omitted letters (in parentheses in the list below) spell JAMES E RYAN 

 

Across 
1. IN(J)URE 
2. OVERTIME 
3. NONCE 
4. PORE 
5. AMISS 
6. KNE(A)D 
7. ERGOT 
8. TUSKER 
9. SPIDER 
10. STATES(M)AN 
11. EDUCATION 
12. TELOMERE 
13. BRIO 
14. B(E)ARER 
15. OLE 
16. DOME 
17. RAGE 
18. TOTE 
19. BILE 
20. TOSCA 
21. PREMISE 
22. (S)CRAM 
23. ACHE 

Down 
1. IMAGINE 
2. B(E)ELINE 
3. MODEL 
4. ARES 
5. UNITED 
6. ORATE 
7. ROSTRUM 
8. EGO 
9. CENSUS 
10. CERES 
11. ROCKS 
12. TAROT 
13. C(R)AVEN 
14. KATE 
15. LOAM 
16. EPEE 
17. TIBET 
18. PAROD(Y) 
19. REORDER 
20. (A)CTRESS 
21. NIOBE 
22. HIER 
23. PA(N)TOMIME 

 
Kevin Wald solved the puzzle in 16 minutes. 


